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Instructions to candidates

(a) Write your name and indeic number in the spaces provided gb’ove
(b) Sign and write the date of examination in the spaces provided above

(c) This paper consxsts of two sections; A and B.
(d) Answer all the questions in section A in the spaces provided. R

N -

(e) Insection B'answer quesﬁon 6 (compu_lsory) and either queshon I or 8 in the spaces

promded -after question 8.

(f) This paper consists of 12 pnnted pages. S :

(g) Candidates should check the question paper. to ascertam that a.ll the pages are
printed as indicated and thatno questions are m1ssmg =

(h) Candidates should answer the questions in English: - - - ; , :
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2
SECTION A (40 marks)
Answer all questions in this section in the spaces provided.
1. The photograph below shows an organism from a certain Class of organisms.

(@ (i)  Name the Class to which the organism belongs. (1 mark)

..... D\P\QFOCDCS‘JA'CC"PTO&PIOPPJQ

* (i) Using o_bservable features from the photggraph, State two reasons for your answer

\ in 1(a)(i). ‘ r\w s (2 marks)

. Vo

°A\’qw°1s§_hgﬂf_ ..... O\v\tenr\ﬂed ................................................
. = -~ : \
; e ‘\\’°+(WQ\‘<M@Ujf(ﬂjwcv&’dwvfg@wrre

T~

..... eCn\\ncl\—\ca\‘
(iii) ~ State two ways in which the organism is important to the environment. (2 marks)
?...D&Lw.'.x.\.?..o.s:e.{ ..... e @ \rmmcmﬂﬂevlen\nchﬁSoxL
e
tAemJW'k‘nesmlLvo\tjktbMOVemm*&{b:\mowL)s
(®) (i)  Name the Kingdom to which bacteria belong. (1 mark)
........ N\ow&ft\,&cupfmo\mm
(i)  Name two bacterial diseases in human beings. (2 marks)
~Claolexa . Iyehend SRR
Sxe\«\\\\ns:, ...... _\b\bwcaxjoS@J(\m*\*w@ .....................
N@Z[M.«z«.m.....m.a‘.@m-se ...........................................................................
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. ¢ . 4 A . ’ 1 1 T ¢
SRk Lo é‘ff‘@i{”“.cgd)ﬂ[wfamdeh)uﬂi'\mms’c“mfrﬁw;;}‘j §a=)
(b)  Explain how the human nasal cavity is adapted to gaseous exchange. @3 rC’Er ™w 0>
q\-w\»&w\*hhawj%o“rm?dwTP«%‘cw}fbfw .. agteadal;
?wn"&j@%mumwﬁqfﬂ ....................................................................
e Mo Mwtt s te sween lwar the mcow@ﬂ\/rz,tu
b 2 o 1Y L, e et O
(¢)  Explain why the amoeba does not require an elaborate
[ . ' gaseous exchange system. ~
° \)\'\\CQ\\\J@.O«“ ‘o OSter \G\rt&e_ SL\\"&\ L Aaveg to voluwg (ﬁ‘?n S\jj
HFU ..... O\\G\rjeswr ate... A re“to\fo\uwm*"c, ....... idiusion
r(
.CCLQ{.Q,SA.....\..\Z-.-S ........ o0z obarang ). L.... mOQﬂ{WLJ ...... QWITE
‘({\\)r\(@“w\m\;{syjhak\OEjC\V\\JN)J ...................................................
(d)  Name the respiratory disease caused by Bordetella partusis. (1 mark)
N\Nﬁp?\m ....... Coamglatccoet  Peclsis
oS
3.
2 -:-:."--:'-
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(a)  State two adaptations of the frog’s skin to gaseous exchange. (2 marks)

N\on&hé\\u&\vefenm‘w
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(1 mark)
(@) ()  Namethe substance produced by the part Jabelled G-
* T —
:, S(.«LJ»-LW\J ..... o). Gy Ak LT e ,
T : : 2 marks)
B (ii) . State two functions of the substance named in 3(a)(1). (
\ ‘ " . Q 1 ‘ -----------------
})GOO'K?"R\“—\—\’\Q&Km\N\Q\&t)ﬁnppl?lﬂ]f:{zg{ ------
AL [hrcrs af) cuntisedtiC) Acc Killy bactteria .
.«.N\C\;Le)g\paskmj‘t\e\wwakawrﬁ;f(wm REpE AL
1 k
(b)  Name the part labelled E. (1 mark)
...... Sweat. Peva. Yﬂi’\b\rf«‘
(¢)  Explain the function of ihc part labelled F to the mammal. ‘ 2 mark.s)
» v Nooamneraaabed h;wj\‘%’g‘httw"‘“*\“o‘tgh’\"au‘JQLem‘tf
O\\\\)\AJ \r\-:.cu\.:t \‘-9'“3 . \A &
@) 6] Ncaf'rcx)é‘f(}ﬁg I)\gr%of\/thaérﬁtfnén body where the cornified layer is thickest.
(1 mark)
Su\eo%‘f\»e :@.E{.t.:.(.?.‘.&..m ..... %l’lanc,{j ....................................
: ﬂ} (ii)  Give a reason for your answer in 3(c)(i). (1 mark)
5 N s _

walkng Coles of feet) and manuid work (palm ¢f han |
4. (@) Two dogs with black fur mated and produced an offspring with both black and .}
brown fur. Given letter N represents the gene for black fur, determine the
-phenotypic ratio of the offspring. (5 marks)

.................. O/\$

; . e
A . V N . S R |Q£k+“rmw(4 ..................... BleciAfne fermale .
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v
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(b)  The photographs below show a hairy pinna in a human ear.

T Q) (2 marks)
Nac..tratt. ds...Sexzlinked 2. Ahe. ene. xespensible ofer
)ﬁww\\a\g?mna\S’fmmoua\‘ht-tw—ﬁp ....... Eenen
\\_‘u\wmvsn‘mﬁg ......... rdorsasee LS ues foskoansonsnR GRS R e RS e Bt

(i)  Name one other trait that only ap;iears in males. (1 mark)
@ﬁmx@\rﬁ))\ac\\&v\ﬂ x.}ﬁ’...D..uah.em.Q...I?ﬂ.\.&?.c-.uim....ciu -’}K-‘-’-ﬁlf‘d-ﬁ
ha'g hose;
(a)  State the role ofsunlight in the formation of strong bones. (1 mark)

..........................................

W\r\\dm\\vr\ecﬂ!saw}ﬁov"(b«‘_ﬁm&t‘o“%Cﬁ%t‘jkm?ﬂ

(b)  The photograph below shows the dorsal view of a part of the mammalian vertebral
column.

S‘-\n\\@\r\t'ewmh\fjh . T —fan’t\rsu\a\/fmmmibé
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(i)  Name the part of the vertebral column shown. (1 mark)

T

o b |
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(1 mark,

(i)  Name the part labelled H.

..C.Q.Q—Sa)k_j...A.C.C..:...Cl.-?v.%d@a...\./.%x'.ﬁ@.[?mﬁ....‘C@J.-......CQ..CQ;@.l.a«é..... ,

...........
.................................
.......................................................................................

(i) ~ State three ways in which the vertebra shown is adapted to its functions.
A P’“’ Sene ef Prezygapephysic To avtl cdate witly lumbar  Ver tebraef(3 marks)

...............................

W idneun] e ffer s of 5Pl ©rd); y ..
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‘ S____CIL\—q( 7%8"““%%1& e sigtln:i’ggr?%%f rr%em/é%%ﬁvlﬁa{lé = lV@er & (2 marks)
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SECTION B (40 marks)

Answer question 6 (compulsory) and either question 7 or 8 in the spaces provided after question S.

, progesterone and

The table below shows the varying concentration of two hormones

6.

[ cycle.

luteinizing hormone, determined at seven-day intervals during the human menstrua
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(8 marks)

On the same axis, draw graphs of concentration of hormones against time.
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i when the conce ark)
()  Namethe physiologica! process taking PI2ce (1
&) 1 luteinizing hormone is highest .
i e
/ O‘V\ .........................................
@Vu,la ......... e e .
(i) Statethe significance of the process named in 6 (b)
..Q.J.a.lea.&e;....: ......... Ol s
Tre ol 48 (L)
............................ - i
@ O Determine the concentration of progesterone hormone at whic (1 mark)
is thickest. . ) ' T .t- .
VACC - W ol 2 e
ol ool 2o bloed V. AL L IEARML -
...... l..Q.D@.f(le.. . . :
i i (1 mark
(ii)  Explain your answer in 6(c)(1)- _ (Im )
E.hc!.mw-(?\wv%!:-i",d"lCVPJ ...... 0 | 2 o J Co o itrethe
B pwgeiterand. Y. hehast. wamfnmﬁfﬁﬁyjmﬁ!ﬂn‘{zﬁ?
: i |
humans. ! (2 marks) .

(d)  State two roles of progesterone hormone in
‘ &\c\\&@\lu ‘ :Ex).{dn.;ix...}?.m éluﬁou%/wtuumjffﬁmww 2. ij.

$ A z 5 @L_{lvﬁc’w ; . : .
?YQS ”) ;g}:ffi&iwbe...ﬁﬂu&u%lc'kéﬂim ...... ao'L ..... 2indomedn ’m“ﬁ)rfﬁ ﬁﬂmm:;: g

] \ ’ = = _e
'{’fi ( k—émn_v K by ‘/ g l.@t“. ’LL(/'(’,'EQ,\ a’ ‘
() Name n@:’; si?Llfr st elrlnirﬂcgiggggé—sl pfonucggin thebguman body. (f‘ rgégls)

es where progest

: C,orf’w\"ttuml@\rcw\jj’(%j ..... *\Q\\Owba’ S Y ;

................................................................
.........................................................................

....................................................................
.................................................
-------------------------

(f)  Name another hormone, apart from the luteinizing hormone, that inhibits the secretion of
progesterone hormone. - (1 mark

.............. ?‘O\C‘-C:TLW\(\—OTW‘-O{\Q E '
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terone hormone seen days after the study

e @ Predict the concentration of proges
period if fertilisation did ot take place. (1 mark)
@W! (s v\UW\\LJ L Yoraeee ralas
............ SO TSNP, G AP0 PRV S ol B
(i)  Givearcason for your answer in 6(g)(1). (1 mark)
hawve. e, ..

mcqw(’w\wtewuawu\ .......................

4

dmf\?r\CQJ”}thX*‘,[dUijMMU 2

............................
.....................................................................................................

¢ human body where the [uteinizing hormone is produced. (1 mark)

(h)  Narme the part of th
' é ngfﬁnp%()\'\l\d\ﬁwvlgtw‘ ........ ........................

.........

.....................................................................................................................................

7. (a)  Explain the role of the placenta during pregnancy. (10 marks)
(b)  Explain features and mechanisms that hinder self pollination a;ld self fertilisation.

(10 marks)

8. (a) Describe how the xylem tissue is structurally adapted to its functions. (5 marks)

(15 marks)

élT?) _ Describe the functions of blood in the human body.
2
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